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7 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ 477 59.46 | ThLs | 000 ~ 000 1.70 8.94 st 1.00 | 6.00 ~ 5.00 59.46 | =h4 | 5.00 ~ 6.00| 1.70 8.94
2 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 000 ~ 7.71 9890 | =nst | 000 ~ 7.71| 213 11.17 st 1.00 | 6.00 ~ 1040 98.90 | =hst | 5.00 ~ 1040| 2.13 11.17
3 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 000 ~ 737 93.95 | =hs | 000 ~ 000 1.67 8756 st 1.00 | 6.00 ~ 9.80 93.95 | =hLS | 5,00 ~ 9.80| 1.67 8.75
4 100kN/mM##BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 689 87.24 | =hs | 000 ~ 000 1.69 8.85 st 1.00 | 6.00 ~ 8.60 87.24 | =hdH | 5,00 ~ 860 | 1.69 8.85
5 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -] 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 7.70 9872 | #nS | 000 ~ 7.70| 2.04 10.71 st 1.00 | 6.00 ~ 1080 98.72 | =hdS | 5.00 ~ 1080 2.04 10.71
P 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -] 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 767 9831 | #nRS | 000 ~ 7.67| 2.06 10.80 st 1.00 | 6.00 ~ 1060 98.31 | =hd4t | 5.00 ~ 1060 2.06 10.80
- 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 741 94.52 | #nSt | 000 ~ 7.41 | 1.99 10.46 st 1.00 | 6.00 ~ 1040 94.52 | =hdS | 5,00 ~ 1040| 1.99 10.46
P 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ b5.59 69.82 | =n4 | 0oo ~ 000\ 1.67 8.24 st 1.00 | .00 ~ 6.70 69.82 | Tnst | 5.00 ~ 6.70)| 1.67 8.24
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ FhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ FhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ FhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ FhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ FhLst ~
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